251 day 6 September 11, 2014

Find lim { &= + 8§, r—6, .
o t—H}{ @>
A (16.-4.7)
B. (8,-6.7)

C. (8,6,0)
D. The limit does not exist.
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1
Determine for what values of t the vector—valued function r(f) = (' Ttan g, |[f + 4], ?5}

is continuous.

\. r(I) is continuous except at f =—5and f =2nm, for n =10, 1, £2, ...
r(I) is continuous except at f =4 and £ =2nmx, for n =0, £1, £2, .-,

\Q . . (2n + 1)
r(I) is continuous except at f =4 and I = T' for n =0, 1, +2, ...,

R ), @r+bx
D. r(r)is continuous excepy F = 3 ,for o =0, £1, 22, ---.
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Find the derivative of r(f) = {5'111(1.‘3], gtos t, fln L‘}.

A {3!1 cns[faj,cns t e_ﬂnt,]n [+ l}
’_____’

o B. (8t7 cos(t®), —sin £ ¢! m£+1)

€. (8t sin(e¥), sin £ e m+1)
D. {3.:? sin[rﬂj,cns f E'ﬂnt,lu [+ l}
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line where the plane curve traced out by the vector—valued function
1T 10
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Determine where the plane curve traced out by the vector—valued function

r(t)= (Y7, 1'% is smooth.

-
Here, r '(¢) = ( 17¢'¢, 10 f9> is continuous everywhere and v '(¢) =0 if and only if # = 0.

This says that the curve is smooth in any interval not including ¢ = 0.
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1 out of 3 attempts

Find the derivative of the vector—valued function.

r(f) = (sin £, cos 2£, sin 1‘2}

g 1.0 1017 ). ¢
<Cost’-—23m{zh\) cos( 5
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Sec. Ex. 31 - 11.2 Secfion Exercise 31 ff {
. . . T &
Evaluate the given indefinite integral '[ ( 5t -7, ,J'E) dt. Note that ¢ represel
any arbitrary constant vector.
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Select the corrext answer for  such that r(f) and r'(f) are perpendicular.
r(f)={5cos t,|6 sin £}

HT
A r(f) L r'(f) when f = v for any integer 1.

B. r(f) L r'(f) when f = nx for any odd integer n.
Rm
@2. r(f) L r'(f) when f = > for any integer M.

D. r(f) L r'(f) when f = % for any even integer n.
f::—, <§(°§( | G S"\i>>
vy - astC
V7 (= Ssiak b
~25 stk + Sk el =0
CostsmtE=0
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Select the correct answer for all values of ¢ such that r'(f) is parallel to the xy—plane. |

i asd n ol .2 \
r(f)=(2.8¢°,2.9¢, 4304 sin £~ — 3.69)

A, r () || xy—plane when [ =0.

fm-r
B. r'(f) || xy—plane when £ =0 or £,|—— for any integer n,

2
||m'r
p{:. r'(f) || xy—plane when £ =0 or > for m@teger n.

D. r'(f) || xy—plane when f =0or

/

Ve

nx for any integer n.
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